R
b W
oL B by A

o Tl e

&

o
=
— —
R
@)
|
S -

INSTRUCTIONS
 QUTDOOR KTCHE




1185mm

—

wwQo6






1pc. | © / 2pcs.
2pcs.| 7 b 6pcs.
2pcs.| 8 \ 4pcs.
2pcs.| 9 ~ 1pc.
2pcs.|10 ' 4pcs.




M6X12 M4X8-TT
g 16pcs, 8pcs.
M6X30 M6X11-SS
é?\ 4pcs. 4pcs.
Dy N P
Dy
8pcs. 2pcs.
M4X8-SS M4X8
6pcs. 8pcs.

(e

_|_

L

(Included)



M6X12

1-2mm.

M6X16







M6X16

4pcs.




M4X8-SS

J % 3pcs.

M4X8-SS

J % 3pcs.




M4X8

4pcs.

M4X8-TT

2pcs.

4pcs.

M4X8-TT

v

2pcs.

10




M6X12

8pcs.

11




M4X8-TT

? 4pcs.

(@)

13

.......

c 1
c

M6X11-SS

% 4pcs.

O

12




4pcs.

13




17

OK




FIND AVIDEO ONHOW TO
ASSEMBLE THE OUTDOOR KITCHEN AT
COZZEBBQ.COM/ASSEMBLY







